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Combining Amounts (with Fractions)

Name:

Usethetablesto answer each question.

1)  Thetablebelow showsthelengthof 2
several roads. What is the combined
length of all the roads?

The table below shows how much water
severa containers will hold. What is the
combined capacity of al the containers?

Road Disrtr(]airllg (I Container zspcic;ts))/
Road 1 23/4 Container 1 81/5
Road 2 27, Container 2 97
Road 3 21/2 Container 3 97/8
Road 4 37, Container 4 9%

3)  Thetable below showsthe capacity ~ 4)
of several water coolers. What isthe
combined capacity of al the coolers?

The table below shows the weight of
severa bags. What is the combined
weight of al the bags?

Cooe (igzpajllcci)%) Rad méms
Cooler 1 21/2 Bag 1 61/5
Cooler 2 1Y, Bag 2 17,
Cooler 3 97, Bag 3 97,
Cooler 4 47, Bag 4 a7,

5)  Thetable below showsthe height of  6)
several boxes. What is the combined
height of all the boxes?

The table below shows the length of
several pieces of string. What isthe
combined length of all the strings?

Box Hieri;g::;()in String Lle::g[];()l .
Box 1 37, String 1 97,
Box 2 67, String 2 27,
Box 3 37, String 3 37,
Box 4 37, String 4 57,
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Combining Amounts (with Fractions)

Name:

Answer Key

Usethetablesto answer each question.

1)  Thetable below shows the length of
several roads. What is the combined
length of all the roads?

Road Disrtr?irll:;) (I
Road 1 27,
Road 2 27,
Road 3 21/2
Road 4 37,

3)  Thetable below shows the capacity
of several water coolers. What isthe
combined capacity of al the coolers?

Cooe (icriaépai%%)
Cooler 1 21/2
Cooler 2 11/3
Cooler 3 91/2
Cooler 4 42/5

5)  Thetable below shows the height of
several boxes. What is the combined
height of all the boxes?

Box 1 34/5
Box 2 67/8
Box 3 31/6
Box 4 32/3

9%
3710
105
6 /120

20
3710

80
37, 120

2)

4)

6)

The table below shows how much water
severa containers will hold. What is the
combined capacity of al the containers?

Container Qapacity

(in cups)
Container 1 81/5 824/120
Container 2 93/6 960/120
Container 3 97, 90
Container 4 92/6 940/120

The table below shows the weight of
severa bags. What is the combined
weight of al the bags?

52 | yilogramy
Bag 1 67 675
Bag 2 17, 1%,
Bag 3 97, Yoo
Bag 4 47, 475

The table below shows the length of
several pieces of string. What isthe
combined length of all the strings?

String E Ie';g;r;()l !

String 1 91/3 98/24
String 2 27/8 221/24
String 3 31/2 312/24
String 4 56/8 518/24

Answers
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